
117

Linear Equations In Two Unknowns

Exercise 5.1
Basic Practice
	 1.	 (a)	 Copy and complete the following table of values 

of x and y for the equation y = 2x – 1.

x –1 0 1 2

y

	 	 (b)	 Draw the graph of y = 2x – 1 for –1  x  3.

	 	 (c)	 Is
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a solution of the equation y = 2x – 1?

Solution
	 	 (a)	 y = 2x – 1

x –1 0 1 2

y –3 –1 1 3

	 	 (b)	 The graph of y = 2x – 1 is shown below.

	 	 (c)	 	 y	 = 2x – 1

	 	 	 	When x	= 3

2
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	 	 	 	 y	 = 2 3
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  is a solution of y = 2x – 1.

	 2.	 (a)	 Copy and complete the following table of values 
of x and y for the equation x + y = 5.

x 0 3 5

y

	 	 (b)	 Draw the graph of x + y = 5 for 0  x  5.

	 	 (c)	 If 
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  is a solution of x + y = 5, find the value 

	 	 	 of p.

Solution
	 	 (a)	 x + y = 5

x 0 3 5

y 5 2 0

	 	

	 	 (b)	 The graph of x + y = 5 is shown below.

	 	 (c)	 Substituting x = 1 1

3
, y = p into x + y = 5,

	 	 	 	 4

3
 + p	= 5

	 	 	 	 p	= 11

3

	 3.	 (a)	 Copy and complete the following table of values 
of x and y for the equation x + 3y = 9.

x 0 3 6 9

y

	 	 (b)	 Draw the graph of x + 3y = 9 for 0  x  9.
	 	 (c)	 If (4, q) is a solution of x + 3y = 9, find the value 

of q.

Solution
	 	 (a)	 x + 3y = 9

x 0 3 6 9

y 3 2 1 0

	 	 (b)	 The graph of x + 3y = 9 is shown below.

	 	 (c)	 Substituting x = 4 and y = q into x + 3y = 9,
	 	 	 	4 + 3q	= 9

	 	 	 	 q	= 5
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